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Problem 1: 
For the circuit shown, determine the current i(t) and the voltage v(t). 
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Problem 2: 
Determine the voltage vo(t) in the circuit shown. 
 
 



Problem 3: 
 
The two loads Z1 & Z2 in the circuit shown are described by:  

Z1 absorbs 12 kW at 0.9 lagging pf. 
Z2 = 4 +  j 4 Ω. 

a) Determine the current 1̂I  

b) Determine the current 2̂I  

c) Determine the complex power P̂ delivered by the source. 
d) Determine the real power AVP delivered by the source. 

e) Determine the reactive power  Q delivered by the source. 
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Problem 4: 
A balanced Y – ∆ connected three phase system as shown, has Vab = 208 ∠450 (rms). 

The per phase impedance of the load is ˆ  6 2 45LZ = ∠ Ω . Find the following: 

a) The phase voltages of the source. 
b) The phase voltages of the load. 
c) The line currents. 
d) The total power absorbed by the load. 
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Problem 5 (a,b,c and d): 
a) The current iL(t) through the 2H inductor is shown. Sketch the voltage vL(t) for  
0 4t s≤ ≤  
 
 
 
 
 
 
 
 
 
  
 
 
 
 
b) Calculate the RMS (effective) value of the periodic function ( )f t shown in the figure below.  

 
 

 
 
 
 
 
 



c) For the following circuit, the voltage vx is: 
 (circle only the currect answer) 

 

1) 1092 V  

2) 975 V 

3) 525 V 

4) 455 V 

5) 273 V 

 
 
 

 
 
 
 
 
 
 
 
 
d) The load in the circuit shown has a current IL=200 A at pf=0.8 lagging, and a 
frequency 60Hz. Calculate the value of the capacitor C to correct the power factor of 
the parallel combination of the capacitor and the load to unity (pf=1). 
 
 
 
 
 + 

170 0  V∠
- 
 

L̂I  


